ALGEBRA II
FIRST SEMESTER REVIEW
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A. Solve using linear combiigtion.

(5 2x-3y=6 o X —15y= 30 (<3 -9 )
T2 Sx—4y=1 — IDX"KLS =

B. Solve using Cramer’s Rule.
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C. Simplify completely.

1. ~200 2. -20 3. £

8. (4 +3if 9.




D. Solve each of the following by factoring.
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E. Solve by completing the square. g

1. x*~6x+4=0 2. 2x% —10x+1=0

F. Solve using the quadratic formula.

2x* =5x-1=0




G. Find the value of the discriminant. State the number and nature of the roots.

1. 3x* —2x+5=0 2. x> —6x+9=0
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H. For the quadratic equation x” —10x+¢ =0, find ¢ so that the equation has

1. one real (rational) root. " 2,«. e = 100 —HC TS
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2. two rational roots.

[00 MLMQCA >0 C = 10

100 - Y e >0
3. two imaginary roots.
o0 = e = O e =20

J. Solve.

2x2 +5x—-12>
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3. y=2(x—-3)(x+1)
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J. Simplify.
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K. Divide.

L (P43 —13x+6)+(x—2) 2. (657 +x> +7x+10)+ (3x +2)
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L. Determine the left and right end behavior of the graphs of each given polynomial function.

1. y=2x"-8x+5 2. y=x'+x*-x
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M. List all of the possible rational zeros of

1. 2x° +7x% +6x-5=0 2. 6x° —2x* +x-10=0

; ‘: ; e 4 R i e
: Lo 3 ~F P
| P ES 20 S/




2. 3x2+5x+2<0
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N. Find all the solutions (roots) of

1. x> +3x2-3x-9=0 2. 2x* =3x* —3x-2=0
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M. Write a polynomial equation in standard form which has the given roots.

e\

1. 2,-3,1 2 1,-1,2i,-21




O. Sketch the graph of the function.

1. y=—1Gx-3)x-1)x+2)
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